11”101 (Kl 17’1,101)

- V)_\\ Linearized knot diagam

4 3
\ / 1 /
8\_\/\ Solving Sequence

. 38—>14—>2—>7—>5-—>6—>11—>9—> 10 —> €1,65,C9
A knot dlagranﬂ c3 C2 Cr €4 Cg  C11  Cg  Cio

Ideals for irreducible component#ﬂ)f Xpar

It = (—u? + b, —u'? +u' +u? — 8u® + 6u” + 5u’ + 2u® — 18u + 5u® + 15u* + 8a +u — 9,
u'® +utt — w0+ 7 4+ 30" — 5ub 4 8u® + ut + 4ud — 2u% — 1)
I = (—201u! — 13200 + - 4+ 281b + 62, 247u' + 280" + - 4 281a + 72,
u'? +ut 4 200 4 200 + 50 4 5u” + 1308 + 114° + 15u* 4 11u® + 8u? + 4u + 1)
IY = (b+1, a® —a’u—2a +u, u® +1)

* 3 irreducible components of dim¢ = 0, with total 31 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(—u*4+b —u?4+ur+..-4+8a—9, u®+u't+..

(i) Arc colorings

w= (3)

IS
3
|

o=

S O
S N

S
=
|

12 1,11
g +

e ] e}
N—

aq = (
%uu Lyt 4. —lu+
a9 = —U4
—
a7 = \ud+u
u?+1
a5 =\ —yt — 22
%u12+§u11+~'71§7u
J— |4
ag = wH+ud+u
(%uu %u“—i— —%u—&-
a1 =\1,12 1 11 1
11 U U+ U+
1
(gulz—i—gun—l---'—gu—g
ag= \ L1210 . T, T
9 W+ gu tau—3
(é?u12+§u11 ”_~_%5u_
ajg=\ 7,12 _ 3,11 R s P,
10 U U + U
1
(%u12+§u11+ +§5u—
ajg=\ 1,12 _ 3,11 4 . . _ 5, _
10 SU SU qU
(ii) Obstruction class = —1

(iii) Cusp Shapes

=4du? + o' — Tu® + Bud 4+ u” + Buf — 16u° + 30u* + 9u® + 5u? —

1
2

- —2u? —1)

u+

rojot



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,€3,C4 w0 70 4307 — Bl 4 8u® +ut 44w — 202 — 1
C6,C7
C2 u F2ut? o —du—1
Cs5, Co ul® —3u? .. 4 5u—2
€8, €10, C11 u® 4+ 3u? + - 4 5u —4




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,€3,C4 yB 42y o 4y 1
C6, C7
€2 Y+ 26y 4+ 12y — 1
€5 C9 Yy 4+ 3y 4+ 5y —4
€8, €10, €11 Yyt 15y 4 17Ty — 16




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.871545 + 0.6659521
a = —0.145280 — 0.7538721
b= 0.316099 + 1.1608101

u =

2.81429 4 2.201671

6.81300 — 2.371821

u = 0.871545 — 0.6659521
a = —0.145280 + 0.7538721
b= 10.316099 — 1.1608101

2.81429 — 2.201671

6.81300 + 2.371821

u = —0.745925 4 0.8602581
a = —0.294264 4 1.1094701
b= —0.183640 — 1.2833801

1.03858 — 7.073951

2.58380 + 8.118161

u = —0.745925 — 0.8602581
a = —0.294264 — 1.1094701
b= —0.183640 + 1.2833801

1.03858 + 7.073951

2.58380 — 8.118161

u = —0.438163 4 0.5796451
a= 0.727972 4 1.0254001
b = —0.144001 — 0.5079581

—2.29540 — 1.460211

—0.76105 + 4.775371

u = —0.438163 — 0.5796451
a= 0.727972 — 1.0254001
b = —0.144001 + 0.5079581

—2.29540 + 1.460211

—0.76105 — 4.775371

u= 0.622206
a= 0441815
b= 0.387141

0.957360

10.3810

u = —0.052177 4 0.5982391
a= 207278 + 0.297491
b= —0.355168 — 0.0624291

1.24085 + 2.677971

5.53095 — 2.231171

u = —0.052177 — 0.5982391
a= 207278 —0.297491
b= —0.355168 + 0.0624291

1.24085 — 2.677971

5.53095 4 2.231171

u = —0.95082 + 1.191311
a = —0.819335 4 0.8441661
b= —0.51516 — 2.265441

10.8970 — 11.16701

4.44754 + 6.341121




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

uw = —0.95082 — 1.191317
a = —0.819335 — 0.8441661
b= —0.51516 + 2.265441

10.8970 + 11.16701

4.44754 — 6.341121

u= 1.00444 4 1.149171
a = —0.762781 — 0.7956221
b= —0.31170 + 2.308541

11.32250 + 4.400881

5.19535 — 1.842371

uw= 1.00444 —1.149171
a = —0.762781 + 0.7956221
b= —0.31170 — 2.308541

11.32250 — 4.400881

5.19535 4 1.842371




II. I¥ = (—201u't — 132u'° + ... 4 281b + 62, 247u'! +28u'® + ... 4 281a +
72, w2 +ul + ..o +4u+1)

(i) Arc colorings

o ()

ag =

—0.879004u't — 0.0996441u'0 + - - - — 4.62633u — 0.256228
0.715302u'! + 0.469751u'0 + - - - + 2.23843u — 0.220641

ayp =
aq =

ag =

—1.59431u — 0.569395u'0 + - - - — 6.86477u — 1.03559
1.23132u'! 4 0.868327u'0 + - - - 4 4.74377u + 0.804270

u +1
—ut — 242
—0.754448u™ — 0.555160u0 + - - - — 4.91815u — 3.28470
0.661922u'! — 0.192171u'° + - - - + 0.220641u + 0.362989

—0.879004u't — 0.0996441u!0 + - - - — 4.62633u — 0.256228)

a5 =

1.43060u't 4 0.939502u'0 + - - - 4 4.47687u + 0.558719

—1.77936u!! — 1.06406u'0 + - - - — 10.2598u — 4.87900
1.27046u't 4+ 0.953737u'0 + - - - 4+ 6.42349u + 2.30961

(
(
(
(
o= ()
(
(
(
(
(

—u? -1
1.43060u't +0.939502u'0 + - - - 4 4.47687u + 1.55872)

—u?—1
a0 = (1.43060u11 + 0.939502u!% + - - - 4 4.47687u + 1.55872>

(ii) Obstruction class = —1

(iii) Cusp Shapes = 212,11 4 1280,,10 4 404,90 | 12088 . 1568, 7 | 4548 6 4 31245 |
281 281 281 281 281 281 281

105204 | 2840,3 | 660872 | 1044, " 1766

281 281 281 281 281




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4 u12+u11+_._+4u+1
Ce, C7
Co U12+3’U111+"'+6U2+1
cs, Co (uS + u® 4+ ut + 2u® + u + 1)?
cs, €10, €11 (ub 4+ u® + 5ut + 4u? + 6u® + 3u + 1)?




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 y12+3y11++6y2+1
Ce, C7
C2 y 1yt 12 1
C5,Co (v +4° + 5y* + 4y® + 6y + 3y + 1)?
€85 €10, C11 (y° + 9y° + 29y* + 40y° + 22y* + 3y + 1)?




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.276186 + 0.9372801
= 1.096930 + 0.4757171
= 0.126264 — 0.1862821

1.35295 + 2.655971

5.58115 — 3.398091

= 0.276186 — 0.9372801
= 1.096930 — 0.4757171
= 0.126264 + 0.1862821

1.35295 — 2.655971

5.58115 + 3.398091

= —0.247920 + 0.8146741
= —0.293452 + 0.4840721
= —1.372270 + 0.1729831

—3.54796 — 1.108711

0.46385 + 6.181171

= —0.247920 — 0.8146741
= —0.293452 — 0.4840721
= —1.372270 — 0.1729831

3.54796 4 1.108711

0.46385 — 6.181171

—0.073688 + 1.1737501
0.321857 + 0.2537941
= —0.602229 + 0.4039481

3.54796 4 1.108711

0.46385 — 6.181171

—0.073688 — 1.1737501
= 0.321857 — 0.2537941
= —0.602229 — 0.4039481

—3.54796 — 1.108711

0.46385 + 6.181171

= —1.18584 4 0.847221
= 0.727937 — 0.9770121
= 0.46202 + 2.135271

12.06460 + 3.427211

5.95500 — 2.252241

—1.18584 — 0.847221
0.727937 + 0.9770121
0.46202 — 2.135271

12.06460 — 3.427211

5.95500 + 2.252241

1.15037 + 0.928081
0.735494 + 0.9498731
0.68843 — 2.009341

12.06460 + 3.427211

5.95500 — 2.252241

1.15037 — 0.928081
= 0.735494 — 0.9498731
= 0.68843 + 2.009341

> Q& €|l & €|l & €| Q& €| 2 €| Q@ &l Q@ €|l 2 €|l & €| & &
I

12.06460 — 3.427211

5.95500 + 2.252241
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.419110 + 0.2222361
1.41124 — 2.018307
—0.802215 4 0.5177271

1.35295 + 2.655971

5.58115 — 3.398091

—0.419110 — 0.2222361
1.41124 + 2.018301
= —0.802215 — 0.5177271

U
a
b
U
a
b

1.35295 — 2.655971

5.58115 + 3.398091
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I I¥ = (b+ 1, a® — a’?u — 2a + u, u? +1)

(i) Arc colorings

w= (o)

ag —
ayp =
aq =

ag =

(
(
(

( 1
o= ()
(

(
(
(
(

—a*u—a+u
a10 =\ —ad?u+a?+u—1
(ii) Obstruction class =1

(iii) Cusp Shapes = 4a? — 4au — 8
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C3,C4 (u2 =+ 1)3
Ce, C7
C2 (u+1)°
cs, Co ub +ut +2u? +1
s (u® —u? +2u —1)?
€10, C11 (U +u® + 2u+ 1)

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3,C4 (y+1)6
Ce, C7
2 (y—1)°
¢35 Co (v +y* +2y +1)°
€8, €10, C11 (v° +3y° +2y — 1)

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/—1CS) Cusp shape

U= 1.0000001

a 1.307140 4 0.2150801 | —0.26574 + 2.828121 | —0.49024 — 2.979451
b = —1.00000

U= 1.0000001

a = —1.307140 4 0.2150801 | —0.26574 — 2.828121 | —0.49024 + 2.979451
b = —1.00000

U= 1.0000001

a= 0.5698401 | —4.40332 —7.01950

b = —1.00000

U= — 1.0000001

a = —1.307140 — 0.2150807 | —0.26574 — 2.82812] | —0.49024 + 2.979451
b = —1.00000
U= — 1.0000001

a = 1.307140 — 0.2150807 | —0.26574 + 2.82812] | —0.49024 — 2.979451
b = —1.00000
U= — 1.0000001
a= — 0.5698401 | —4.40332 —7.01950

b = —1.00000

15



IV. u-Polynomials

Crossings u-Polynomials at each crossing
€1,C3,Ca (u? + 1)) (u? +ut 4+ du+1)
Ce, C7 (!t utt =t 7?4 3u” — 5ub - 8uP 4 ut 4 4ud — 20 — 1)
€2 (u+ D)% +3u + -+ 6u? + 1) (u"® +2u'? + - —du — 1)
cs, o (ub + ut + 20 + 1) (ub + u® + ut + 20 + u + 1)?
c(u? = 3ut? 4 4 5u—2)
cs (u® —u? 4 2u — 1) (u® + u® + 5u* + 4u® + 6u* + 3u + 1)?
(w4 3ut? 4 4 5u—4)
¢10, C11 (u® 4+ u® 4 2u + 1) (u® + u® + 5u* + 4u® + 6u* + 3u + 1)?

c(u 4 3ut? 4 5u—4)

16



V. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C3,C4 ((y + 1)6)(y12 + 3y11 N 6y2 + 1)(y13 + 2y12 4= 4y - 1)
C6,C7
© ((y = D)y + 11y™ + -+ 12y + 1)(y"° + 26y + - + 12y — 1)
¢, Co (® + % + 2y + 1)2(y% + 4° + 5y* + 4y® + 632 + 3y + 1)
(P 3y 4+ By — 4)
cs.cioen | W03y 2y = 1250 + 997 + 299" + 40y° + 2% + 3y + 1)°

Sy 4+ 15y" 4+ 17Ty — 16)
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